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Andrew noted that the he is in discussion with the President regarding this and would provide the
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Appendix A — Standards Timeline

S0 (), (<% (H%-

_/$)*10120324105  ,/67," (*%(#% 145 (

G0 (P *+, 'S *-1. ) £ /8" $$ 08 b -1O4* 1" $213+ 1 1-4561+589 - +
+

(/-



_/$9)*10421424105

G0 (P *+, 'S *-1. ) £ /8" $$ 08 b -1O4* 1" $213+ 1 1-4561+589 - +
+



-/$t)*1042:24105

B J [ ($L'0"3"12$#5'($"<740"G

P HSOHN( J [0 1"30%<$" 13VV26" 1<60M4<]
B 2 [*H,4S. WISHSAMS' ; <12384<1

PRSI (= 2 |*9,B. /350, J25<7<"201"§04"1'2' 161"< 81

TG0 (PR *+, 'S *-1. ) £ /8" $$0$$ b -1O4* 1" $213+ 1 1-4561+589 - +

+




